Townhouse in Zabbar



Reference No: 240061007-7546

Zabbar, South



€220,000

Total Rooms: 9

Bathrooms: 1

Floor Area (m²): 109

Bedrooms: 3

Townhouse - For Sale - Zabbar

ZABBAR - New on the market comes this 3 bedroom unconverted townhouse located in a small alley but close to all amenities. This property comprises of 8 rooms and courtyard on ground level. On the first floor one finds another room with roof terrace that can built further. Once renovated it will turn into a beautiful family home. Freehold

Features

Yard

Central Courtyard

Air Space

Rooms

Kitchen/Dining : 3.21 x 2.52 m (8.09 m2)

Living: 2.93 x 3.7 m (10.84 m2)

✓ Single Bedroom : 3.52 x 2.44 m (8.59 m2)

Double Bedroom : 2.91 x 3.94 m (11.47 m2)

Single Bedroom: 3.47 x 2.88 m (9.99 m2)

✓ Box Room : 1.2 x 2.56 m (3.07 m2)

Workshop : 2.52 x 3.21 m (8.09 m2)

Laundry: 1.62 x 2.54 m (4.11 m2)

✓ Hallway: 1.39 x 6.59 m (9.16 m2)

✓ Bathroom : 2.11 x 2.73 m (5.76 m2)

Gallery









RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta